
 

Properties of fractional lineartransformations
1 Conformal as maps from Qutub Gulab

hence angles preserving

f g are fractional linear transformations

fog is a fractional linear transformation

fractional linear transformation is a composition of
translations dilations and inversions

4 fractional linear transformationsmap straightlines
circles to straighttries a circles
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4 Note that translations and dilations map
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circles Then because of we only need to

prove 4 for inversion Z t

let E Xtiy W it Iz
then stit

5
i
yz

ie S Xx'tye
t

y

Gumsion as amappingfralkilos
Rayos



Also wet IWHZEI.ie

f
Etta

SIE
y y s t
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Similarly the upper semi circle maps to part of
a straight line a a circle passeig through
o and o and hence must be a straight line

Since the angles from El D to the semicircle is

the angle from the positive x axis to the image
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1.2 The Dirichlet Problem in a Strip

Dirichlet Problem in theopenset r consists of solving
OU 0 in r

u f on ar

where D Exa Eye is the Laplacian operator

f given continuous function on ar

i.e Dirichlet problem BoundaryValueProblemforthe Laplaceequation

knownFact Solution to Dirichlet Problem inthe unitdisk ID
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In this section we illustrate how to use conformalmaps and

the solution of Dirichlet problem in the unit disc to solve
Dirichlet Problem in a more general domain r in E
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For techincal reason let consider special cases
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